











Use BEDMAS to simplify the following:

 $\left(\frac{-2}{3}\right) \div \left(\frac{3}{4}\right) + \left(\frac{1}{3}\right)\left(\frac{1}{3}\right)\left(\frac{1}{2}\right) = \left(\frac{-2}{3}\right) \div \left[\left(\frac{3}{4}\right) + \left(\frac{1}{3}\right)\right]\left(\frac{1}{3}\right)\left(\frac{1}{2}\right) = \left(\frac{-2}{3}\right) \div \left(\frac{1}{3}\right)\left(\frac{1}{3}\right)\left(\frac{1}{3}\right)\left(\frac{1}{3}\right)\left(\frac{1}{3}\right) = \left(\frac{-2}{3}\right) \div \left(\frac{1}{3}\right)\left(\frac{1}{3}$

Use BEDMAS to simplify the following:

$$\left(-1\frac{1}{2}\right) + \left(\frac{-2}{3}\right)\left(2\frac{3}{4}\right) = \left(-2\frac{1}{4}\right) \div \left(1\frac{3}{8}\right) + \left(2\frac{1}{2}\right) = \left(\frac{5}{6} + 2\frac{2}{3}\right) \div \left(-1\frac{3}{4}\right) =$$

Use the formula $SA = 2\pi r^2 + 2\pi rh$ to find the surface area of the following can:

